Department:	Regional Forensic Science Center	Priority #:	1	
Contact Person:	Dr. Timothy P. Rohrig			-
Phone #	316-660-4800	_		
		_		
Project Title:	Crime Laboratory-Infrastructure Maintenance and E	nhancement		
Project Description:	(Below)			
To acquire or replace ne	ecessary equipment to support forensic analyses of ev	vidence from crimi	inal activ	rity, for ALL law
enforcement agencies in	nvestigating crime and attorneys prosecuting crimes t	that occur within S	Sedgwick	County.
Purpose Area:	Law Enforcement Programs [[Forensic Laborate	ories]	
r	Item Description	Cost per Unit	Units	Extended Cost
	Manifold - Drug Extraction from Biologicals P#1	5,500	1	5,500.00
Dry-D	own Evap/Heat Module System P#1	3,800	2	7,600.00
	Rotator P#1	1,400	2	2,800.00
	Repeat Pipetters P#1	340	8	
Designer Opioid Standards [Including 22 Fentanyl analogs] P#2		65	35	2,275.00
LC/MS Colum	n [replacement/method development] P#2	860	3	2,580.00
	Laboratory Chairs P#3	250	5	1,250.00
				-
				-
	Total Costs			24,725.00
Goals				
	ent [one dry-down evaporator and lab chairs both ac		-	
	ry-down unit, positive pressure manifold, rotators an			
	oss tow buildings) for Toxicology]. LC/MS column will			
this platform and to dev	elop methods to address the designer opioids [need f	for standards] eme	erging in	our community.
Objectives				
	nimen thru nut in the face of aging aguinment and hi	-Landamanda on :	the Toxic	
develop new methods to	cimen thru-put in the face of aging equipment and high	gner demands on	the roxic	cology and to
develop new methods to	detect desiner opiolos.			
Deliverables				
	d develop methods for designer oipoids.	<u> </u>		
Trialite and Carlotte and Carlotte	a develop methods for designer ofpoids.			

Department:	Sedgwick County Courthouse Police	Priority #:	1	_	
Contact Person:	Darrell L. Haynes	_			
Phone #	(316) 660-7782	_			
Project Title:	Taser ECD Protective Devices for 0	Courthouse Police	e Officers	5	
Project Description:	(Below)				
	es (ECD) commonly known as Tasers have been long e				
	ibiquitous as a firearm on the belt of the Wichita Polic				
	cer safety and provide additional less lethal options to				
Department has not used ECD in the past, relying on pepper spray, and impact devices for less lethal options. Pepper spray					
	closed environment of the Courthouses, and the use of				
	nd the suspect, than the use of ECD. Approval of this g				
	er to the recognized standard level. While the Courtho				
	coverage when shared between the officers at both th				
	Department is responsible for the safety and security o				
courts, the Protection fr	om Stalking docket, the Protection from Abuse docket	t, the Domestic la	w docke	ts, tax foreclosure	
sales, the Small Claims (Court, primary and general elections, and tax appraisal	hearings. Many	of these	areas have highly	
charged cases which car	n flash into confrontations at any time.				
Purpose Area:	Police Equip	ment			
	Item Description	Cost per Unit	<u>Units</u>	Extended Cost	
Taser # 11003 X26P Y	ellow, # 11010 (XPPM) battery, and # 44952 holster	1,142.79	10	11427.9	
				0	
	Total Costs			11,427.90	
Goals					
Enhance officer safe	ety and assist in the reduction of officer injuries in the	volatile environn	nent of th	ne Courthouses.	
Objectives					
Enhance officer safe	ety and assist in the reduction of officer injuries in the	volatile environn	nent of th	ne Courthouses.	
<u>Deliverables</u>					
ECD Tasers will enhand	ce officer safety and will assist in the reduction of offic	er injuries in the	volatile e	environment of the	
	Courthouses.				

Sedgwick County Edward Byrne Memorial Justice Assistance Grant (JAG)

Department:	Sheriff's Office	Priority #:	1	
Contact Person:	Captain Jared Schechter			-
Phone #	660-0905			
Project Title:	Inmate Computer	Labs for Reentry F	rogram	
Project Description:	(Below)		<u> </u>	
Provide computer labs a	at the main facility and work release facility for inmat	es preparing for r	elease oi	on the work release program
to do job searches and a	apply for jobs while under the supervision of staff. Th	nis would enable i	nmates t	o possible have employment
opportunities as they re	entry the community and would be a piece of a large	reentry program		
, ,	, , , , , , , , , , , , , , , , , , , ,	., .		
Purpose Area:	Main Facility and	d Work Release Fa	cility	
	<u>Item Description</u>	Cost per Unit	<u>Units</u>	Extended Cost
7 co	mputers along with network drops	1382.5	7	9,677.50
				~
				-
				-
				<u>-</u>
	·			-
				_
				-
			<u> </u>	-
				-
	Total Costs			9,677.50
Goals				
To follol				
<u>Objectives</u>				
	To follow			
Deliverables				
	To follow			

Department:	Sheriff's Office	Priority #:	2	
Contact Person:	Lieutenant Lin Dehning			-
Phone #	660-3880			
Project Title:	Voi	ce to Text		
Project Description:	(Below)			
To date, the Sheriff's Of	fice uses electronic dictation for our narrative reports	s. This process co	nsists of	deputies calling in and speaking
1	l recording device. Records clerks then listen and typ			
report. We have consis	tently maintained over 100 reports in the que awaitir	ng transcription. I	n early 2	017, the Sheriff's Office in
1	nducted test and evaluations of various voice to text p		_	*
eliminate the need for a	third party to type our reports, creating efficiency ar	nd accuracy. The	system id	dentified is the commercially
available Dragon produ	ct. This request is to purchase 20 systems to deploy to	o second watch ro	oad patro	ol.
Purpose Area:	Chariffic Offi	ce - Patrol Divisio		
Purpose Area.	Sherin's Onle	ce - Patroi Divisio	n	
	Item Description	Cost por Unit	Unite	Extended Cost
Dragon Naturally Spe	eaking Professional licenses, SpeechMike Premium	Cost per Unit 900	Units 20	
Dragon Naturally Spi	eaking Professional licenses, Speechwike Premium	300	20	18,000.00
		 	l	
		+	l	
				_
				_
				_
				_
				-
	Total Costs			18,000.00
		_		
Goals				
To follow				
				i
<u>Objectives</u>				
	To follow			
Deliverables				
Deliverables	To follow			
	10 Ioliow			

Sedgwick County Edward Byrne Memorial Justice Assistance Grant (JAG)

Department:	Sheriff's Office	_Priority #:	3	_
Contact Person:	Capt. Jay McLaurian	_		
Phone #	660-5300	_		
Project Title:		Callyo		
Project Description:	(Below)			
	ology that constitutes a greater degree of safety for th			
	s the position of a traditional body wire. By allowing ir			
	opportunity for efficiency an increased safety. Now, i			
_	their person: the unit itself, a wired antenna, and a w			
	r needs is a smart phone. Then, by utilizing the Callyo t			
	get are monitored, recorded, and transmitted. This nev			
	ectly. Moreover, the number of lines that a Callyo pac			
1	se. For example, on one cell phone, two Callyo lines m			1
1	and a second to place calls and text messages to the ta		cially im	portant in order to effectively
execute an investigation	n when encountering multiple suspects in a drug organ	nization.		
Purpose Area:	Sheriff's Office - I	nvestigations Div	isions	
	Item Description	Cost per Unit	Units	Extended Cost
A two year contract w	ith eleven lines, unlimited credits (or minutes) and in	8705	1	8,705.00
				-
				-
				-
				-
	Total Costs]		8,705.00
Goals				
To follow				
<u>Objectives</u>				
	To follow			
D. I				
Deliverables	=			
	To follow			
1				

Sedgwick County Edward Byrne Memorial Justice Assistance Grant (JAG)

Department:	Sheriff's Office		Priority #:	4	
Contact Person:	Capt. Mark Pierce		_		_
Phone #	660-3760		_		
Project Title:		Sta	r Chase		
Project Description:	(Below)				
	nnology - This technology uses prohecti			at cars o	during pursuit so that the
pursuit vehicle can des	calate the chase and track the car throu	ugh the tracking	device.		
		Ol :50 OF	D . 10112		
Purpose Area:		Sheriff's Offic	e - Patrol Divisio	n	
			0 1	11-74-	Estandad Cont
	Item Description			<u>Units</u>	Extended Cost
	Star Chase Units		4979	4	
					-
					<u> </u>
		 	<u> </u>		-
					-
					-
					-
	Total Costs			<u> </u>	19,916.00
	Total Costs		1		19,918.00
<u>Goals</u>					
To follow					
TOTORIOW					
Objectives					
Objectives		To follow			
Deliverables					
		To follow			
1					

Sedgwick County Edward Byrne Memorial Justice Assistance Grant (JAG)

Department:	Sheriff's Office	Priority #:	5	
Contact Person:	Lieutenant Lin Dehning			•
Phone #	660-3760			
Project Title:		Terminals (MCT) - Re	placeme	nt
Project Description:	(Below)			
1 .	nobile computers in patrol cars. The Sheriff's Offic			•
	deputies in the completion of their duties. They al	•	-	
	systems. They allow deputies to instantly verify dr		-	•
1	omputers came with a 4-year warranty which will			
tool, we need to begin i	replacing a percentage of our inventory each year.	. Therefore we are re	questing	funds to replace 5 of the 120
MCT's.				
Purpose Area:	Sheriff's	Office - Patrol Division	n	
	Item Description	Cost per Unit	<u>Units</u>	Extended Cost
	Start Chase Units	2000	5	10,000.00
				-
				-
				-
				-
	Total Costs			10,000.00
Goals				
To follow				
Objectives				
	To follow			
<u>Deliverables</u>		· · · · · · · · · · · · · · · · · · ·		
	To follow			
				ı

Department:	District Attorney's Office	Priority #:	1	_
Contact Person:	Jeanette Allaire	_		
Phone #	660-3607	_		
Project Title:	Updated Multi-Purpos	e, Media room		
Project Description:	(Below)			
	office has a multi-purpose room used for training, hom			
types of staff and intera	agency meetings. The room was wired and equipped in	n 2005 with audio	o/visual e	quipment. This
equipment is now dated	d and in desperate need of replacement.			
Purpose Area:				
	Item Description	Cost per Unit	<u>Units</u>	Extended Cost
	WUXGA Projector and ceiling mounting system	2054.99		
	" LED HDTV with VGA/HDMI/RS-232	624.99		
Lab G	ruppen 400W 2 Channel Power Amp	880		
	BSS BLU 50 4 In/4 Out DSP	1018		
Crestron Control	Process with 7" Touchscreen Tabletop Controller	3150		3,150.00
	Cables and Connectors	329.99		
	Programming	125		· · · · · · · · · · · · · · · · · · ·
	Labor	85		2,720.00
	Shipping	650		
AV Pro 6x2 Multi-Med	ia Video Matrix Switch and Auto Select Input Adaptor	1424.99	1	
	Total Costs			14,102.96
Goals				
	cabling in the multi-purpose room to allow for visual of	larity on the disp	lay scree	ns (television and
LCD projector) and prov	vide modern presentation options.			
<u>Objectives</u>				
	d and images displayed on the television and projector	are oftentimes v	ery diffic	cult to see. New
equipment and cabling	(HDMI) will provide significant improvement.			
<u>Deliverables</u>				
Installation by vendor o	of all equipment, configured per specification and relev	ant staff trained	ın propei	r usage.
l				

Department:	District Attorney's Office	Priority #:	2	
Contact Person:	Jeanette Allaire			
Phone #	660-3607			
Project Title:	USB D	uplicator (4)		
Project Description:	(Below)			
Allow for file transfer	, copying and erasing of USB drives in a quick and	efficient manner throug	gh use of a US	3B duplicator.
Purpose Area:	Pro	secution		
	Item Description	Cost per Unit	Units Exte	ended Cost
StarTed	ch 1:5 USB Duplicator, Eraser and Sanitizer	433	4	1,732.00
				-
			<u> </u>	_
				-
				-
	Total Costs			4 700 00
	Total Costs			1,732.00
Goals				
Increase speed and ef	ficiency of Discovery process through the use of a	USB 1 to 5 duplicator; r	nust be comr	patible with
USB 1.0; USB 2.0 AND	USB 3.0.	,		
<u>Objectives</u>				
Objectives				
<u>Deliverables</u>				
	Purchase, install and utilize stand-along USB dupli	cators in the Discovery	unit.	

Sedgwick County Edward Byrne Memorial Justice Assistance Grant (JAG)

Department:	Division of Corrections	Priority #:	1	
Contact Person:	Christine Collins-Thoman			,
Phone #	316.660.7018			
Project Title:	Drug Testing & Electronic Mo	nitoring for Adult Intensive Su	pervision	Program
Project Description:	(Below)			
Project Description:				
We are requesting fina	incial assistance to help purchase drug tes	ting and electronic monitorin	g services	for adult offenders
supervised in the comr	nunity. Without additional funding from (other sources, it will be difficu	ilt to conti	nue providing
these services at the sa	ame level as previous years.			
<u></u>				
Purpose Area:	Corrections and	Community Corrections Prog	grams_	
	Item Description	Cost per Unit	<u>Units</u>	Extended Cost
	Drug Testing			20,000.00
	Electronic Monitoring			20,000.00
				0
				0
				0
				0.
				0
				0
				0
				0
	Total Costs			40,000.00
			_	
Goals				
To reduce recidivism an	nd use of adult detention by addressing su	pervision levels to meet clien	t risk facto	rs including
electronic monitoring a	nd drug testing.			_
		· · · · · · · · · · · · · · · · · · ·		
<u>Objectives</u>				
1) Moderate - High Risk	offenders, who have demonstrated the n	eed for increased monitoring	and/or th	ose who are court
ordered, will be placed	on electronic monitoring. 2) Only offende	ers that currently abuse drugs	and alcoh	ol or have a
history of use will be tes	sted as outlined in agency policy and proce	edures.		
D.P. II				
<u>Deliverables</u>				
offender ====================================	ffenders will be monitored electronically.	Drug and alcohol testing will	be utilized	with identified
offender population.				

Sedgwick County Edward Byrne Memorial Justice Assistance Grant (JAG)

Department:	Division of Corrections	Priority #:	2	J
Contact Person:	Christine Collins-Thoman			-
Phone #	316.660.7018			
Project Title:	Juvenile Detention Fa	acility Phone System	1	
Project Description:	(Below)			
Related to our efforts in	n Family Engagement for our Juvenile Population, w	e are implementing	free pho	ne calls instead of a
collect call system. We	e are requesting financial assistance to purchase pho	ones, pay for softwa	re and in	stallation to allow
youth to have contact v	with their support system while detained without ad	ditional cost to the	parent/g	guardian. The
system would allow for	set numbers for the residents to call.			
Purpose Area:	Corrections and Communi	ty Corrections Progr	rams	
	Item Description	Cost per Unit	Units	Extended Cost
	Phones	459	12	5,508.00
	Software		12	3,827.20
	Installation (in hours)	225	40	9,000.00
	Customer Application (in hours)	195	160	31,200.00
				_
				_
				-
				_
				-
	Total Costs		ļ	49,535.20
Cools				
Goals		· · · · · · · · · · · · · · · · · · ·		
	gement by ensuring youth are not isolated from fam	ily contact due to co	ost of col	lect call phone
system.				
Objectives				
	detention housing unit areas to allow free phone ca	lla hattara an anciden		-:
system.	deterition housing drift areas to allow free priorie ca	iis between residen	ts and th	eir support
oystein.				
			-	
Deliverables				
Phone access for resider	nts and decreased financial burden on families to en	courage support.		
		O -FF		